BANJO BLOCK ASSY

BLEEDER
VALVE UP
10-15 |b-ft

| BANJO BLOCK l

% INDICATES CHANGE THIS EFFECTIVE DATE.

DESCRIPTION BASE NO.
UFP DISC BRAKES 10F 6

DATE: ECN:
650612




10” CALIPER SPRING ON TOP ASSY

CALIPER MOUNTING BOLT
_~ TORQUE TO 55 Ib-ft
LOCTITE REQUIRED

. ‘\
\
MOUNT BANJO
BLOCK HORIZONTAL

% INDICATES CHANGE THIS EFFECTIVE DATE.

DESCRIPTION BASE NO.

UFP DISC BRAKES 2 OF 6

DATE: ECN:
LAZEEE | 550612 |73




10” CALIPER SPRING ON BOTTOM ASSY

-

CALIPER MOUNTING BOLT
TORQUE TO 55 Ib-ft
LOCTITE REQUIRED

) - REFERENCE ONLY:
~ | TORQUE TO 25 Ib-ft

MOUNT BANJO BLOCK
VERTICAL WITH BRAKE
HOSE BEHIND BLEEDER
VALVE

% INDICATES CHANGE THIS EFFECTIVE DATE.

DESCRIPTION BASE NO.
UFP DISC BRAKES 3 OF 6

DATE- ECN:
w 08-06-12 | 713




12” CALIPER SPRING ON BOTTOM ASSY

BOLT 3/8x1” UL (e CALIPER MOUNTING BOLT

TORQUE TO 55 Ib-ft

3/8” LOCK NUT
LOCTITE REQUIRED

TORQUE TO 35 Ib-ft

MOUNT BANJO BLOCK
VERTICAL WITH BRAKE
HOSE BEHIND BLEEDER
VALVE

% INDICATES CHANGE THIS EFFECTIVE DATE.

DESCRIPTION BASE NO.

DR
-.A

DATE: ECN:
“"“"‘-’R 08-06-12 [ 713




10” CALIPER TRSN ASSY

CALIPER MOUNTING BOLT
TORQUE TO 55 Ib-ft
LOCTITE REQUIRED

REFERENCE ONLY:
TORQUE TO 25 Ib-ft

MOUNT BANJO
BLOCK VERTICAL

. INDICATES CHANGE THIS EFFECTIVE DATE.

L\

DESCRIPTION BASE NO.
UFP DISC BRAKES 5 OF 6

DATE: ECN:
w 08-03-20 | 1192




12” CALIPER TRSN ASSY

CALIPER MOUNTING BOLT
TORQUE TO 55 Ib-ft

REFERENCE ONLY:
TORQUE TO 25 Ib-ft

BOLT 3/8x1”
3/8” LOCK NUT
TORQUE TO 35 Ib-ft

MOUNT BANJO BLOCK
DOWN

o

% INDICATES CHANGE THIS EFFECTIVE DATE.

DESCRIPTION BASE NO.
UFP DISC BRAKES 6 OF 6

DATE- ECN:
w 05-27-13 784




BANJO BLOCK ASSY

BLEEDER
VALVE UP
10-15 Ib-ft

l BANJIO BLOCK l

% INDICATES CHANGE THIS EFFECTIVE DATE.

DESCRIPTION BASE NO.
UFP DISC BRAKES 10F6

DATE: ECN.
Geo612



tratzlaff
Void


10” CALIPER SPRING ON TOP ASSY

o . -y

CALIPER MOUNTING BOLT
TORQUE TO 55 Ib-ft E

LOCTITE REQUIRED

REFERENCE ONLY: ]
TORQUE TO 25 Ib-ft 3

% INDICATES CHANGE THIS EFFECTIVE DATE.

DESCRIPTION BASE NO.
UFP DISC BRAKES 20F6

DATE: ECN.
LAEEEEE | G012 | 713



tratzlaff
Void


10” CALIPER SPRING ON BOTTOM ASSY

s~

CALIPER MOUNTING BOLT
TORQUE TO 55 Ib-ft
LOCTITE REQUIRED

N . REFERENCE ONLY:
' | TORQUE TO 25 Ib-ft

MOUNT BANJO BLOCK
VERTICAL WITH BRAKE
HOSE BEHIND BLEEDER
VALVE

% INDICATES CHANGE THIS EFFECTIVE DATE.

DESCRIPTION BASE NO.
UFP DISC BRAKES 3 OF 6

DATE: ECN.
W 08-06-12 713



tratzlaff
Void


12” CALIPER SPRING ON BOTTOM ASSY

BOLT 3/8x1” BV [ .| CALIPER MOUNTING BOLT
3/8” LOCK NUT o TORQUE TO 55 Ib-ft
TORQUETO 35 Ib-ft [N =~ % N LOCTITE REQUIRED

~—— REFERENCE ONLY:
TORQUE TO 25 Ib-ft

l"

MOUNT BANJO BLOCK
VERTICAL WITH BRAKE
HOSE BEHIND BLEEDER
VALVE

% INDICATES CHANGE THIS EFFECTIVE DATE.

DESCRIPTION BASE NO.
UFP DISC BRAKES 4 OF 6

DATE: ECN.
W 08-06-12 713



tratzlaff
Void


10” CALIPER TRSN ASSY

*

CALIPER MOUNTING BOLT
TORQUE TO 55 Ib-ft
LOCTITE REQUIRED

= e 1
e . = REFERENCE ONLY:
2y - g TORQUE TO 25 Ib-ft

MOUNT BANJO
BLOCK HORIZONTAL

INDICATES CHANGE THIS EFFECTIVE DATE.

L\
DESCRIPTION BASE NO.

UFP DISC BRAKES 5 OF 6

DATE: ECN:
W 01-30-17 f 1025



tratzlaff
Void


12” CALIPER TRSN ASSY

o

=

AR

CURE W/ZIP TIE
P 5 PTG D
i <

CALIPER MOUNTING

CALIPER MOUNTING BOLT
TORQUE TO 55 Ib-ft
LOCTITE REQUIRED

REFERENCE ONLY:
TORQUE TO 25 Ib-ft

BOLT 3/8x1”
3/8” LOCK NUT
TORQUE TO 35 Ib-ft

MOUNT BANJO BLOCK
DOWN

% INDICATES CHANGE THIS EFFECTIVE DATE

DESCRIPTION BASE NO.
UFP DISC BRAKES 6 OF 6

DATE: ECN.
W 05-27-13 784



tratzlaff
Void




